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Notes: Simplifying Radicals

/ocab Bread N\

Radical or Root:

Simplifying Radicals

V18 Step 1: Find the largest perfect square that
divides the radicand.

Step 2: Rewrite the square root as the product of
the square root of the perfect square and the
other factor.

Step 3: Find the square root of the perfect

square.
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What if we have variables?
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Name: Date:

Classwork: Simplifying Radicals
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17) 18)

When 54/ 20 is written in simplest radical form, the

What is 2~/ 45 expressed in simplest radical form?
result is & «.E . What is the value of £?

1) 345
1) 20
2) 545
2) 10
3) 7 3) 65
4 4 4) 1845
19) 20)
0 Theo determined that the correct length of the
What is —,— expressed in simplest radical form? hypotenuse of the right triangle in the
\/_ accompanying diagram is A/ 20. Fiona found the
D 2 length of the hypotenuse to be 2«/5 . Is Fiona’s
2) 442 answer also correct? Justify your answer.
3) A8
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